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POS PLAYER CLUB TOT 0 I
1 2 M & Bl Bo=EcC 75 38 37
B K IF 17 BEG 75 38 37
38 8 B X BEXRG 77 36 41
= B E = FHBEC 77 41 36
5 B K & WMLERG 78 39 39
A By 1E #uwhaa’c 78 37 41
& B St X HMLEEG 78 38 40
FE B Ih — HLERG 78 40 38
;R {E R FERC 78 40 38
10 3 A #1 Z #bs-$prC 79 41 38
E B A T UMM C 79 37 42
T BH F &K SEC 79 41 38
il F %% Bk A SAC 79 39 40
W N iE — SiacC 79 39 40
15 Iz AW & #Mcdk 80 40 40
a R E AN BEG 80 38 42
h E = B FHSC 80 38 42
=3} gl # ARC 80 38 42
19 [ &RX K &FH d%C 81 39 42
m ok ¥ OF - c 81 40 41
B B A & #mly-#rc 81 42 39
£ FE E — XiMG 81 39 42
a Il F 1T FFEFG 81 40 41
R I B — FHSC 81 45 36
M 7 B PE FERC 81 40 41
N E B $aC 81 39 42
5 E F F ARC 81 38 43
28 H #1  4 X #MMLEERG 82 41 41
EH L & sa 82 41 41
A BF & Rl BERG 82 42 40
M K 1 B BEG 82 41 41
= M E Rl aAnc 82 38 44
£ B & ¥ X BEEG 82 36 46
m K B E FHBC 82 41 41
A A R K RUERG 82 42 40
HE E — ARC 82 39 43
37 £ 4 K F X - C 83 41 42
= Il B I dixc 83 42 41
X B Jt%c 83 42 41
HE == # WG 83 41 42

POS PLAYER CLUB TOT O I
41 B B @ F E#EG 84 42 42
2 B F B ik 84 39 45
S H B X $EC 84 43 41
B I % & $AC 84 45 39
F B & % Bo=cC 84 42 42
fo] =B & X B BIEG 84 43 41
E 2 B Xk mcdex 84 41 43
M H E E AMG 84 43 41
R OE M RMUERG 84 41 43
BE IF F LG 84 43 41
# B {1 e 84 41 43
52 K B BB BE # WG 85 42 43
F H I #EwRG 85 44 41
H 58 B M B&c 85 42 43
55 40 BF = E Hl-HPC 86 44 42
#ME R KB A&RC 86 43 43
B K B MMLEERG 86 41 45
#w H 7% MLMIG 86 41 45
1 K B & HLuIG 86 42 44
1T ) B2 puUMIG 86 43 43
H = B FHM8C 86 43 43
W A & B wyvrrc 86 43 43
=S | B 7w A YN TI[€ 86 41 45
= 7 F MLEEG 86 44 42
g EGE M WLMmG 86 41 45
B @ Bl HRFG 86 44 42
67 1 H B ARC 87 43 44
I = O OEGA 87 43 44
X IF¥ B Z WNLERG 87 43 44
5 A [ 18 w87 38 49
M MK B — XMG 87 41 46
&k & B #EXG 87 41 46
73 R B B ff #Citx 88 41 47
X A A & SEC 88 42 46
h H B — AKC 88 43 45
g & Z SAC 88 43 45
R B B A BEo=EC 88 43 45
78 £ 18 % WG 89 43 46
I [ 1B FuCibs 89 46 43
A 15 B F EGA 89 44 45

POS PLAYER CLUB TOT 0 1
78 % [ ¥ OWLMING 89 43 46
M K R A FHBC 89 44 45
& B & Bk Eo=C 89 41 48
84 B H B FHSC 90 42 48
FE = BA FHEC 90 46 44
86 FH = E B M WG 91 43 48
£ B B B FAcix 91 40 51
& G B % 1G 91 48 43
mE F R FHEC 91 45 46
90 /v MK B AA”C 92 40 52
91 /IR HE Siac 93 49 44
% B B — #LG 93 49 44
= E E R B mosC 93 48 45
® A B HE FHsC 93 46 47
95 /N MK & B BE#&G 95 43 52
£ B £ & oz 95 44 51
97 B ¥ # — MG 96 48 48
R B £ K MCik#E 96 43 53
9 F H E #yyMAC 97 46 51
100 & ¥ B X B#ERG 99 57 42
101 & Lk & g EGA 100 50 50
102 &5 B B EBosEC 104 53 51
MoK & & MUERG 104 51 53
Z I A" M X vybrc
R 4L B F F HWUEERG
R E H A /jEl\ SiaC
R m B 0 #& ABC
R % B FB I Hwhrc
R W kR B & #&E#G
X £ FE B Z $myec
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